e Suppose that each transistor has an internal grounded gate capacitor Co and drain
capacitor Cp:
Cc=cuxW L; Cp= (caxW L)2; cox=1 pF/um

e  Suppose that all NMOS transistors are identical and all PMOS transistors are identical.

o Wrno=Wni=Wh=Wis=Wn=Wns=1u, Wpp=3u, and Vin={Vp{=1V.
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a) Derive a Boolean expression of f in terms of the inputs x; through x5 in evaluation phase.

b) At the start of the evaluation phase suppose that x; =0 — 1, x; =0, x3 =0 —1,
x, =0, x5 =0, and Vy= 0V, Vy= 0V, Vour = 5V. Considering the charge share
problem, find the final voltage value at the output.

¢) To make the final voltage value at the output as 4.5V, determine the capacitor value of a
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